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I 13 mwn: status of nn 921 inside the womb vis-a-vis nn nkmv
a  If: the 12w dies inside, there is no nn nkn, whether the animal is N7V or NRNY
b Dissent (177127): if it is a nRnY NNN1 (e.g. horse) — it has kM (2if he reaches inside and touches — knv); not NNV
I Analysis
a  p'1's rationale (n77):V"p — if mother can exempt 121y from nYNY, certainly it can “protect” from NRMO
i Challenge: that reasoning is only valid for n7nv nnna
ii  Answer: v. 1 compares nRnY NNN (NNNIN 1n) to NNO (NYIRY DI RN TVR)
1 Just as: "V nnna protects its 921y from NRNIY, so too NRNL NN
b 277s source:
i Proposall (pny?77): v. 2 — vnn 931 — if it “walks on 4” (instead of “8”, i.e. split hoofx4) is xnv
1 Challenge: if so, v19p in the womb of a n79 should be &nv, as it “walks on 4”
(a) Answer: it must be “4-on-4”, and this is “4-in-8”
2 Challenge: if so, a “cow” (i.e. split hoof) inside a “camel” (single hoof) should not be Xnvn (not 4/4)
(a) Answer: Y21 (v. 2) extends to that case
3 Challenge: if so, v19p inside of V19p should be rnon (it is 4/4)
(a) Answer: that's how n"1’s 1"p (above) is used — to allow the nnna pn to protect, even if its hoof is solid
4 Challenge: then a 1mn inside a sow should not be xnvn (8/8)....rather...
ii ~ Proposal2 (»7277): v. 3 — why mention nknv nnna — after all, all mnna are XNV as carcasses
1 Rather: it teaches that even the 721y of a nknv nnna(only) generates NY21 NRMY
2 Challenge: how do we understand pny> "9’s interpretation?
(a) Answer: if not for pn¥’ v’s Nw17, we would have thought that v. 2 was entirely intended as per »a7:
ili  A77772 conversation between 1m1 "7 and "Rty 12 PYnY 1
1 »: asked for source for "nv 7N NY21 NRMY
(a) Answer:v.2
(b) Response (pr121 79): it states there n'nn 931 — to assign NY1) NRML to 121
(1) Question (y7aw7): how does YRynY’ "1 answer this?
(if) Answer: v. 1 includes both nknv nnna and NNV MNN1 (as per above)
1. And: we learn that “”nnna includes 1’n and vice-versa
a. application: "nmno NnNa” includes NNV N and "NRNY NNNA” includes NRNY PN
i.  and: "nRnv 1n” includes NNV NN and ""MnNY N’ includes NNV NNNa
ii. (o8 px regret for not studying under YRynw ")
2 Source (for 58ypw? ’7's inclusions): "nnna” includes n'n —v. 4 identifies group as nnn3, yet lists nvn
(a) And: "mn”includes nnna —v. 5 — refers to list as n’'n and lists mnna
(b) Applications: "nv 7N has same “indicators” (112°0) as NNV NN
(i) And: nRnv 7N has same rules as NNV NN - for prohibition of cross-breeding
(if) And: nxno Nnna is akin to NXNY 7N as per 127
1. 227 teaches that v. 2 (where it is unnecessary, included in nknv 7'N) is VTP NRMY — from v. 6
(iii) And: v nnna is akin to NNV PN for “formation” (if one that looks like that is formed and the
woman births it, has nT9» nkmY per ™ — kN MN3)
iv. Question: how do nnan (of our mwn, who disagree with 3”1”1 and maintain no nkmv for NrNY 921) interpret v. 3?
1 Answer; they interpret entire verse as per a1 (above)?

2 this explanation of ...1212791 follows "v7; however, a number of D)WKY had a different text of the X3 and, following their Xv7%), the question

was about 13271 who disagree with n™ about “animal forms” being born etc. —in which case, they simply drop the last application and use the
last 2 for 227’s rule about T A%y 129p for VTP NRMO
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